Industrial hydraulic valve | Tl i JE &

T

Hanshang Hydraulic

DWMG ﬂ%ﬁ]?ﬁel’ﬁl 53] C #1EHZ Characteristic curves DWMG6

DWMG SERIES MANUALLY

Ap-qv M EERIZE  Characteristic curves R YIRAIE Spool position
OPERATED DIRECTIONAL 4 8 10 6 o
11 / pool symol| p_p | p-g | A-T | B-T
VA LVES 1 0 / 5 A 3 3 — —
9 // / / 3 B 3 3 - -
(@] 9 C 1 1 3 1
® I // 7 // ///’ 1 D 5 | 5 | 3|3
g_) g 7 / 4 / 2 E 3 3 1 1
o
: . [ 17777 T
$ G 6 6 9 9
° % 5 // / / - ///A/ H 2 | 4 | 2 | 2
§ sL ., / N, /;//// J 1 1 [ 2 [ 1
) R § 3 / //// 7 k/l 2 j ;1 2
e 2 // = {// = P 3 | 1 1 1
1 A Q 1 1 2 1
0 R 5 5 4 —
DWMG B F zhi#k[m] i) 218 3 FREEREERSM 3, DWMG series manually operated directional valves are direct type 0 10 20 30 40 50 60 3 1; 130 2 i )
MR AT E s Xk, RAEMBRICEES directional valves ,It can control the start ,stop & direction of fluid flow. & Flow in (L/min) — =
SR, . . . . . V 1 2 1 1 D
&, This series with detent or return spring are available. W ] p 5 5 o
7 HEERFS 'R AL TFIEHIIED (A9B) v : : 3 3 =
Symbol "R" in spool position "b" (A — B) g
8 HEEMFS"G" F"T"&TF 4L (P-T) Y
O ﬁ*%}:{-ﬂ Technical data Symbols "G" and "T" in central position (P — T) 6
o
)
—t
=
o
1#1% Size 6 10 16 22 25 32 y
8 Flow rate(L/min) 60 100 300 450 650 1100 O #tEH L Characteristic curves DWMG10 QE
T {&JEF1(Mpa) Operating pressure(Mpa) A. B, PifiO31.5 TiliE16/A. B. P oil ports 31.5 T oil ports16 — — é
: Haeme YL E Spool position n
B2 (TF5) Weight(KGS) 1.5 4.4 8.9 12.5 19.4 39.2 Ap-qv 1 8EdiE  Characteristic curves , Spool symbol| pop | pog | At | ot
B (41 REAE . . . 14 8
- b A 4 3 - | -
Valve body ( Material ) Surface treatment A T A L R e ST e 13 / 6 B 3 2 — —
L eT— NAS1638 9ZEFNIS04406 20/18/15%% 12 // é / < T
IR TR ' NAS1638 class 9 and ISO4406 class 20/18/15 11 7 // S D 3 | 3 5 | 5
10 Y 4 4 6 6
© /1 / 4 E 2 2 4 4
g 9 7 A
= PIVAVAE F 1 | 2 | 3| 4
CADIRIRI 1 g 3 NN A2 GT 4 | a7 |7
3L 27 b
www.cadiriri.com.br 22 s o e
o 4 e M 1 1 4 4
@ A~
M5 3 = P 3 |15 |5
° ° ° ° / /
formularios@cadiriri.com.br 2 , o« o=
1 — R 3 4 3 -
0 u 3 | 3 |5 |2
(]_ ]_) 2601-2839 0 10 20 30 40 50 60 70 80 90 100 110 120 v 2 ]2]531[s3
*& Flow in (L/min) — W s 1 31313

( 11 ) 06393-2796 8 HEEFS'R" ALTFHHIED (BN
Symbol "R" in spool position "b" (A — B)
8 HEEFFS"G" F"T"&TF 4L (P-T)
Symbols "G" and "T" in central position (P — T)

Ningbo Hanshang Hydraulic Co.,Ltd. www.nshpv.com




Industrial hydraulic valve | T\ it JE & - ®
FLIT

Hanshang Hydraulic

C #E#% Characteristic curves DWMG16 C #MH4Z Characteristic curves 4DWMG25
Ap-qv MEBERRZE  Characteristic curves o Ap-qv 1#E#NE  Characteristic curves 8 7 6 5 P YL E Spool position
14 8 6 5 7 / 4 Spool symbol| p_a | p—g | A-T | B-T
/ / 3 12 = / // » E 1 1 1 3
8 12 /| / Meeme YIALE Spool position = 10 HlkErs 2 // // F 1 4 3 3
©
o / // // Spool symbol| p_a | p—g | A-T | B-T | P-T = >/// //// 1 5 i l 2 :
o < 10 y E.D,Y 1 1 3 3 - t5 s 1
= < / / 4 — ~E / e J.Q 2 2 3 5
5 1 % 8 / / / / 1 F 2 2 3 3 - S0 6 // 7 / o L 2 | 2 | 3| 3
QL G, T 5 1 3 7 6 o5 M 4 4 1 4
N o o >
o =T / / ////// 2 H.C.Q 2 | 2 [ 3 ]3] - @B g / 7 7. 72%
= _g [} 6 74 A l.:‘_ﬂ 2 g
n 5 7 // / V.Z 2 2 3 3 — e //%/ neeme YIHRALE Spool position
Kt % A / / JKL 1 1 3 3 - 2 = Spool symbol
= o 4 v > MW - - 1 5 — P-A| PB| AT| BT
Hs / /// - : 0 P 4 |1 ] 1[5
2 B Z ] R 2 |21 4| - | - 0 50 100 150 200 250 300 350 400 450 500 550 600 650 R > 11 1 -
Y 1 1 4 ! & Flow in (L/min) — U 4 1 1 6
. S 4 4 4 - 8 \% 2 4 3 6 Q
0 50 100 150 200 250 300 w 1 1 1 3 =
JRE Flow in (L/min) — T 3 |1 | 21 4 o]
o
7 HLEEFFEG  Spool symbols G 8
fR{IP-T  Central position P-T —
8 HEEFFST Spool symbols T 8
{ifP-T  Central position P-T S
3
. o F % Characteristic curves 4DWMG32 >
C #FlEm % Characteristic curves DWMG22 O il 9<J
% BEfhZk §
Ap-qv MEEERA%  Characteristi
18 p-qv B aracteristic curves 9 8 m
Ap-qv MEBERR%ZE  Characteristic curves / / 4 LI a= IHRALE Spool position
14 S 6 Neeme R E Spool position 16 . spool symbol[ b | pg | AT | BT | P—T | B-A
/ / / 4 Spool symbol P-A P-B A-T B-T P-T B-A / - E 1 1 2 3 — —
12 / / E 2 2 1 4 - - 14 7 13 G 6 |5 16 |71 7]|-
3 F 1 2 | 1 2 | 4 | - T / £ R 1112 -1 -4
S 10 / ’//2 G 2 | 2 [ 246 |- g 12 // = s | -|-1-[-Te1s
c m 5 5 ] 3 P n T8 / y=——_ T 6 | 5|6 | 7] 7]-
o /] g 10 =5 w 1 1 23] -14
Ts 8 A 1 J 2 | 2 [ 1 3 | -] - 5 / / =7 74
P SN N NI N P S 22 g sV AR
Sg 6 Vo4 7/ — M 2 | 2 [ 1 [ a4 |- -l /] / EEEE— |1 10 ERENEES
~ _ = e e e R All other spool symbols
W @ 4 / /% g P 2 2 ! 4 6 H s 6 / e r—— pootsy
o O V72 Q 2 2 [+ a4 -1- >
L o // — — ¢
) A R 1 2 1 5 4 \
=7 T 2 2 2 4 5 —
10
0 50 100 150 200 250 300 350 400 450 T T T T o L=

& Flow in (L/min) — 0 100 200 300 400 500 600 700 800 900 1000 1100
4 HIEEFSL  Spool symbol L & Flow in (L/min) —
F{iIA-T Central position A—T
6 HlEETFSU Spool symbol U
ffiiB-T Central positon B — T

Ningbo Hanshang Hydraulic Co.,Ltd. www.nshpv.com




Industrial hydraulic valve | Tl i& JE i@

Hanshang Hydraulic

(C DWMGS6 4N R~ DWMGS6 Subplate Installation Dimensions

(C DWMGH6/10 #LEERFS DWMG6/10 Spool symbols

I

VAR

=
><

071

je=}

=
><

:
e

P T
ECERE

F

1 I
T T

X

SRR
-omE

:

T

hO 4= Rill

J

IEE

=D «

DAISliRIN

DXL

SA S F
> P4
o b
— \\- \\_\\
sufssfin

<

=

B

=
s

Y

T I LR
/I
X

p

Catalogue 2017

i
Infinls
<L N <

T

T

L

XIA

:
¢

(C DWMG16/22/25/32 #LEERFS DWMG16/22/25/32 Spool symbols

66. 5

13.6

40.5

< o %3]

dEEHACEs

1.Valve’ s set screw
4 of M5x 50 GB/T70.1-12.9
Tightening torque Ma=9Nm.

44-M5X50 GB/T70.1-12.9%%

1. WEERLZ
FrEHIEMa

I b bd 1 B
SRt

—

=

LA

=
Bl
MM

- = KA A F
1 FEEECEED
1-T CITOEOr 1
I L1 EL [T n

B0 I < Wi B

F

A
e |
P

vl e
XTI

C

XY

A, B
P T
X ]

RN

FONSEHIN

XI] «

X))

XS]

2.0-ring $12.3x1.9

=9Nm

2, 0ZYE12.3X1.9

www.nshpv.com

Ningbo Hanshang Hydraulic Co.,Ltd.



Industrial hydraulic valve | I )i I & ” ii®
- &
Hanshang Hydraulic

(C DWMG10 4MEI R ~F DWMG10 Subplate Installation Dimensions (C DWMG16 4N R~ DWMG16 Subplate Installation Dimensions

(@]
=
2l
o
o)
c
) " .
N /J 1 1 I\
S [ I
~ | |
| |
| | =)
e _ ™
(gl
O
A B i
T T I
| ‘ | | ‘ |
| ‘ | | ‘ |
[B! 1 LAl
ootle i 4-011 % Pyl
M 2 ] 2-06. 6% Pylome # Pylome
. | -

| — = )
T =l v BN S =
ll=——————|EESSEZR\N P2 |
N O I i \‘/ \‘/ ‘
F= s ) | o e
/7 TR i ~
—HE+H —H— - | — ~ ! -

T

©)
ok
AN
\&Z4
I

IS
-l L
Za
\=4

79.5
70
46
L
I
\\_|//
N\
>
NV
+F
2
/71N
St
i
|
|
N
|
|
|
—
AN
AR
+_F
2
:F/
=\
1V
F
—
|
|
|
69‘9
91

\F/ I~
B /7T A ‘
RN \\ﬁ/ ; _@ ?%_ ,,,,, +—— 19 50 =
. N4 *P —— 101, 6
: %0. 5
19.2 h4
92.4 M
155. 4

1. BEEEET

44-M6X50 GB/T70.1-12.9%%
& HAEMa=15.5Nm

2, OZY[E: ©16X1.9

1.Valve’ s set screw

4 of M6 x50 GB/T70.1-12.9
Tightening torque Ma=15.5Nm.
2.0-ring $16x 1.9

Ningbo Hanshang Hydraulic Co.,Ltd.

%) [ FE 42 5T

44-M10X60GB/T 70.1-12.9%% 17EH%EMa=75Nm
24MBX60GB/T 70.1-12.94% 7% #%EMa=15.5Nm
P.T.ABOOZIE: ®26X2.4

X.Y.LOOZE: ©15X1.9

Valve’ s set screw

4 of M10 x 60 GB/T70.1-12.9 Tightening torque Ma=75Nm.
2 of M6 x 60 GB/T70.1-12.9 Tightening torque Ma=15.5Nm.

O-ring for P.T.A.B Port: ¢$26x2.4
O-ring for X.Y.L Port: $15x 1.9

www.nshpv.com




Industrial hydraulic valve | I )i I & ” ii®

- &
Hanshang Hydraulic
(© DWMG22 58I R~ DWMG22 Subplate Installation Dimensions (C DWMG25 58I R~ DWMG25 Subplate Installation Dimensions

/25" /“["‘25°
N ?

/ ' /\ o - 74 \
o TN A
i X / \ / S N\ 32
(=2 N < } ) / e R
Q_J \\7\/\\ \f’/ é <’(\ I| ? x|
= O N Z\é/ N \R
(]
c ! % \<\
) | ‘ - e
\
N — \:/F
S S =/ / ) o A
\, o3
¢ — rs-@zo = - , =
= =
=TT f i
- T i T
b | | | | |
[ | | ‘ = | ‘ | | ‘ | = X A B
~ i ol
| [ | m _/J
S0 | e
340
61 189
282
14 23
130
53 6-014
OEne) :
A ‘ //;¥: . ;+:\P ’_t\/\ N \
! e
| TIW MR (L =
= = | Q RS g
J ‘ -
4*77ﬁ77 — — I S — SH=
| | 0\ N - —
‘ Dy s et
@{ N LSS EAARS [
‘ 1 \J| /]
77 - 19 7
o
130
) ] 7E 42 5T Valve’ s set screw
61"M12X60 GB/T 70.1-12.9% #T%E#%EMa=130Nm 6 of M12 x 60 GB/T70.1-12.9 Tightening torque Ma=130Nm.
i P.T.ABOOEE: ©34X3.1 O-ring for P.T.A.B Port: ¢34 x 3.1
18 B ZE 42 5T Valve’ s set screw
1 B . —ri .
6/M12X60 GB/T 70.1-2000~12.94% 3 5%4A4EMa=130Nm 6 of M12 x 60 GB/T70.1-2000~12.9 Tightening torque Ma=130Nm. XYHOZME: ©25X3.1 O-ring for X.Y Port: ¢ 2531
P.T.ABOOZIE: ®31X3.1 O-ring for P.T.A.B Port: ¢ 31 x 3.1
X.YCIOBE: ®25X3.1 O-ring for X.Y Port: ¢ 25 x 3.1

Ningbo Hanshang Hydraulic Co.,Ltd. www.nshpv.com




(@)
QD
=
o3
o
«
‘=
(]
N
o
[y
~

Industrial hydraulic valve | Tl i& JE i@

(© DWMG32 58I R~ DWMG32 Subplate Installation Dimensions

o CRY e
v Y
\\ \/\/ \/\/ /
\_,(\\‘ \ / ,/ ?4

485
e

89

l
164

428

190.5

[

19

- \ ‘
= / l\+////P \i%j ‘
Y .

@]

[

L]

197

114.5

21.5
% B ZE SR T
64~M20X80 GB/T 70.1-2000-12.9% 17&i%E
Ma=430Nm

P.T.ABOOZEME: ©42X3
X.YHOZ![E: ©18.5x3.1

Ningbo Hanshang Hydraulic Co.,Ltd.

Valve’ s set screw

6 of M20 x 80 GB/T70.1-2000-12.9 Tightening torque Ma=430Nm.

O-ring for P.T.A.B Port: ¢$42x3
O-ring for X.Y Port: ¢ 18.5x 3.1

T

Hanshang Hydraulic

| 4 [owme|e | E |60/ F [ % | = |

3==i#0
4=UiH 0
3=3 Qil ports
4=4 QOil ports
e

Model

1% 6/10/16/22/25/32
Size: 6/10/16/22/25/32

Bt 35 AR

For further details
Fo=THRAE
V=8

No code=NBR seals
V=FPM seals

FT=8E S F=IHEIEE
No code= Spring return
F=With detent

MEERS
Spool type

B IR

618 1£=50;10i&1E=10;161&EE=30
Series number

Size 6=50 Size10=10 Size16=30

CADIRIRI

www.cadiriri.com.br
formularios@cadiriri.com.br

(11) 2601-2839

(11) 96393-2796

www.nshpv.com




